"™ U3A Intermediate Bridge 2018-19

Week 5 Welcome

HoVao

Steve Bailey
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U3A Intermediate Bridge 2018-19

Week 5 Autumn Tournament

The results of the tournament according to the travellers.
You get 2 points for every same seats pair you beat and 1 for each you equal.

Pair—» SC/PS SA/MB AM/LK GB/AG RP/SK BTAJT SD/LW JGJ/LR
{ Bd

1 4 6 0 2 2 6 0 4
2 1 6 4 1 5 2 0 5
3 3 0 3 6 3 3 6 0
4 0 3 0 6 3 3 3 6
5 0 2 2 6 6 4 0 4
6 5 5 4 1 0 1 6 2
7 2 4 0 4 2 4 6 2
8 6 3 6 3 3 0 0 3
9 0 4 2 0 6 6 4 2
Total 21 33 21 29 30 29 25 28
Place 7= 1 /= 3= 2 3= 6 )

As it happens, 25% of the results were recorded incorrectly. However the
results stand. Please get better at filling in travellers.
Board data on other slides has been corrected to reflect the BRIDGE played.
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Week 5 Autumn Tournament

The tournament was a 4 table, 3 round, 9 board event. One round was

Arrowswitched, which caused confusion. In future people will move not the
board orienation.

Blue results as played.
Red results as analysed after the event.

All boards were dealt just before the start.
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DIr=N Vul=None 3C by W
s J8
v A984 | 5422
¢+ T9863 L2HCP
& 43
s AK7 N 4 Q65
v2 v J763
¢ KJ74 w E| 452
& KJ965 S & AT82
5431 4432
15 HCP & 79432 7 HCP
v KQT5
¢+ AQ 5422
% Q7 13 HCP

Week 5 Board 1

Bidding, opening lead & planning.

N E S W
P P 1S 2C
P 3Cfit P P
P

Fit = Bid to level of the fit with a weak (10-)
hand.

Lead by N ~ Near top of rubbish:
9D

TT~ S:AKQ H:-D:- C:AK =5
Need 4+ more.

XT~ Trump 3 x H in {W} making
{W} short trump hand. Dummy
reversal. Deep finesse JD.
Trump D:74.

But AD gets played at trick 1 promoting KD
toa TT. Can then cross ruff H & D.
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Week 5 Board 1
DIr=N Vul=None 3C by W Play.
(NM 9D 2D AD 4D |
s J8 {S}2 KH 2H 4H 3H |
v A984 | 5422 {N)8 QH 5C 8H 6H (1) XT
+ T9863 |2 HCP (W KC 3C 2C 7C (2
& 43 {(W}5 6C 4C AC QC (3)
(E}6 7H 5H 9C 9H (4) XT
o AK7 N » Q65 {(W}7 KD 3D 5D QD (5)TT
v2 v J763 (W} 7D 8D 8C 2S (6) XT
» KJ74 w E| 450 (E}9 JH 10H JC AH (7)XT
& KJ965 & ATS8? {(W}10 JD 6D 10C 3S (8) XT
S s (E}11 QS 4S 7S 8S (9)
e HeP » T9432 7 HCP {Ef12 55 9S AS JS (10)
v KQT5 {(W)13 KS 10D 6S 10S (11)
¢+ AQ 5422
+Q7  [BFF gc;zo IC;‘,1\(,)\,0
Bonus = 50 Total = 150
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Week 5 Board 1

DIr = Dealer, Vul = Vulnerability.

# Dir Vul

1 N None
1 5 3H-1
3 6 2C+3
4 8 3C+1
7 2 5C-1
Ref 3C+2

How did {6E} get to be C declarer?
| guess 3H by {1S} occurred after {1N} responded either 1NT or 2D.

Source
Deal

S 8
E 11
W 10
W 10
W 11

50

50
150
130

150

oo A~

O~ ONDMN

SV
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Dir=E Vul=NS 6S by W
o 74
vQT7 |5332
+ AQo52 [ 8HCP
& 632
+ KQJ9 N 4 A653
v 82 v AKJ63
¢+ K64 LU E| +8
& A874 S s KQJ
4432 5431
13 HCP & T82 18 HCP
v 954
¢ JT73 | 4333
& To5 | 1HCP

Week 5 Board 2

Bidding, opening lead & planning.

E S w N
1H P 1S 2D
#3S P 4Cicb P
4Dicb P 4S bail P
4NT kecb P 5H((2) P
#6S P P P

{N}'s 2D is pushing it. icb=ltalian Cue Bid;
bail = no cue bid, bail out into trumps; kcb =
KeyCard Blackwood; (2) = 2 KeyCards.

Lead by N~ {W} bid S & C. Don't
underlead A, so a H: 7H.

Also could lead AD — similar result.

TT~ S:AKQJ H:AK D:- C:AKQJ =
10. Need 2 more.

Losers~ KD—-+AD
XT~ Trump 2 x D. 1 x Length H.



SV

SV

U3A Intermediate Bridge 2017-18

Week 5 Board 2

Dir=E Vul=NS 6S by W
o 74
vQT7 |5332
+ AQo52 [ 8HCP
& 632
+ KQJ9 N 4 A653
v 82 v AKJ63
¢+ K64 LU E| +8
& A874 S s KQJ
4432 5431
13 HCP & T82 18 HCP
v 954
¢ JT73 | 4333
& To5 | 1HCP

N} 7H
E}2 8D
N}3  4S
W4 4D
E}5 6S
W6 6D
E}7 KC
JS
8H

10 6H
W}11 4C

12 JC
{(E}3 JH

6S= by W
6*30 =180
Game = 300
Slam = 500

AH
3D
55
2D
8S
5D
5C
3C
10H
9H
6C
10C
JD

4H
KD
10S
3S
QS
AS
AC
3H
KH
9S
QC
7G
8C

— 39 9

Total = 980
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Week 5 Board 2

DIr = Dealer, Vul = Vulnerability.

# Dir Vul

2 E NS

1 5 4S5+3
3 6 4S5+2
4 8 4S+3
7 2 5H-1
Ref 6S=

Source
Deal

W 13
W 12
W 13
E 10
W 12

50

510
480
510

980

Unsure how folk made 13 tricks. Surely {N}'s AD wins?

Please don't say {N}'s opening lead was a low diamond!
In the unlikely event that the contract was 7S, {N} would just lead AD.

What bidding gets to 5H? | don't see it.

O 01D O

SV
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DIr=S Vul=EW 3NT by E
or maybe 3Sx by S
e T32
v KQ985 | 5332
+QJ 8 HCP
& T93
48 N « KQ7
v AT6 v J72
¢ T975 w E| ¢ AK862
& AQ854 s & J7
5431 5332
10 HCP & AJ9654 14 HCP
v 43
¢ 43 6322
& Ko | 8HCP

Week 5 Board 3

Bidding.

If NS play "Strong Opening Twos".
S W N E

P P P INT!
25 3C 3S SNT

P P P

If NS play "Weak Opening Twos".
S W N E

#2S! 3C 3S 3NT

P P P

In both cases with good S stops,
{E} doesn't want to let {NS} get
away with the contract.

An alternative would be "Double."
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Week 5 Board 3

DIr=S Vul=EW 3NT by E
or maybe 3Sx by S
e T32
v KQ985 | 5332
+QJ 8 HCP
& T93
48 N « KQ7
v AT6 v J72
¢ T975 w E| ¢ AK862
& AQ854 s & J7
5431 5332
10 HCP & AJ9654 14 HCP
v 43
¢ 43 6322
& Ko | 8HCP

Opening lead & planning for
3NT by E.

Lead by S~ 4t highest: 6S

TT~ S:-H:AD:AKC:A=4.Need 5
more.

XT~ If 3:1 D split, 2 x Length D.
(If 2:2 split 3 x Length D).

If 4:2 split 1 x Length C.

(If 3:3 split 2 x Length C).

QC after JC—KC.

QS after KS—=AS.

(Losers~ KS 1xD 1xC)
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Week 5 Board 3

Dir=E Vul=EW 3NT by E Play of 3NT by E.
or maybe 35x by S (SH 6S 8S 10S KS (1) XT
A T32 (E}2 AD 3D 5D JD (2)
v KQ985 | 5332 {[E}3 KD 4D 7D QD (3)
o QJ 8 HCP (E}4 2D 2C 10D 3C (4) XT
»T93 (Wi5 9D 5H 6D 4S (5)XT
(Wl6 4C 9C JC KC
.8 ¥ s KQ7 (S}7 9S 6H 2S5 QS (6) XT
v AT6 v J72 {E}8 7C 6C AC 10C (7)
¢ T975 w E| +AKS862 {W}9 QC 8H 2H 3H (8) XT
& AQ854 & J7 {(WHHO 8C 3S 7H 4H (9) XT
S o (W1 5C 9H 7S 5S (10)xT
> » AJO654 o HCP (WH2 AH QH JH JS (11)
v 43 {(W}13 10H KH 8D AS {
¢43 | ose2 3NT+2 by E
»Ke2 [8HCF 5*30 + 10 = 160
Game = 500 Total = 660
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Week 5 Board 3

# Dir Vul Source

3 S EW Deal

1 5 2S-2 S 6

3 6 2S-2 S 6 -

4 8 2S= S 8 110
7 2 2C+3 W 11 -
Ref 3NT E 11

I'm leaving 3Sx by S as an exercise for the reader:

Opening lead, PLAN, play, score.

DIr = Dealer, Vul = Vulnerability.

100
100

150
660

OO0 Www

o O WwWww

SV
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Week 5 Board 4

Dir=W Vul=All 6H by W Bidding, opening lead & planning.
w N E S
& T43 1 H P #3H P
v9 5431 H fit {E}=9HCP + 3Pts(L1D)=12pts. Then
2 HCP {W}=19HCP+5Pts(L0OC)+1Pt(L5H)=25pts.
¢ K643 Joint=37pts: slam zone.
& KJT73 3Sicb P 4Cicb P
4Dicb P 4ANT kcb P
s K982 N & QJ75 55(3) P 6H P
v AKQT3 v 8654 P P
¢ AQJ2 w E ¢+ 8 {W} with a void can't use Blackwood so cue
& - S * AQ52 bids again. {E} can and does Blackwood..
5440 4441 Lead by {N}~ Sequence: JC.
19HCP | 4 A6 9 HCP TT~ S:- H:AKQ D:A C:A = 5. Need
vJre 5+ more.
¢ T975 | 4432
#9864 | 5HCP Losers~ KS—=AS, QD-KD.

XT~ S:QJ; 1 x Length S; 2 x
Length H; JD. Trump 3 x D.
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Dir=W Vul=All

& K982
v AKQT3
¢ AQJ2

5440

19 HCP

4H by W
s T43
v9 5431
s K643 L7HCP
& KJT73
N & QJ75
v 8654
W E ¢ 8
& AQ52
S 4441
& A6 9 HCP
v J72
¢ T975 | 4432
& 9864 [°HCP

Week 5 Board 4

Play.

{N}1 JC
{(W}2 AD
{W}3 QD
{E}4 5S
{W}5 JD
{W}6 AH
{(W}7 KH
{W}8 QH
{W}9 2S
{S}10 4C
{E}11 JS
{E}12 2C
{W}13 10H
6H=by W
6*30=180
Game = 500

Slam = 750

QC
6D
KD
6S
4D
9H
45
3D
10S
85
9D
8C
KC

6C
8D
4H
KS
7S
SH
6H
8H
QS
7G
9S
3H
5C

Total = 1430
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Week 5 Board 4

# Dir Vul Source DIr = Dealer, Vul = Vulnerability.
4 W Al Deal

1 4 6H= W 12 - 1430 0 6

2 6 5BH= W 11 : 650 3 3

7 5 4H+1 W 11 : 650 3 3

8 3 6H-1 W 11 - 100 6 0

Ref 6H= W 12 - 1430
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Week 5 Board 5

DIr=N Vul=NS Bidding, opening lead & planning.
N E S W
+ Q986
v AKQT9| 9422
¢ 43 11 HCP
® 43
o T32 N a 75 Still working
v J75 v 43 on Board 5
¢ Q5 W E| «AKT72
* KQ875 s ® AJT2
5332 5422
8 HCP s AKJ4 12 HCP
v 862
¢ JO986 | 4432
% 96 9 HCP
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Week 5 Board 5

DIr=N Vul=NS Play.
+ Q986
v AKQT9 | 5422
¢ 43 11 HCP
® 43
¢ 132 N 75
v J75 v 43
¢ Q5 w E| +AKT72
* KQ875 s ® AJT2
5332 5422
8 HCP s AKJ4 12 HCP
v 862
¢ JO86 | 4432
* 96 9 HCP
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Week 5 Board ?

# Dir Vul Source DIr = Dealer, Vul = Vulnerability.
5 N NS Deal

1 4 2C+3 W 11 - 150 0 6

2 6 3S= S 9 140 - 2 4

7 5 2H+2 N 9 170 6 0

8 3 INT-3W 4 150 4 2
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Dir=E Vul=EW 3NT by S
& AK96
v 75 4432
& AK3
453 N 4 18742
v JT94 v 632
¢ K542 w E| +A8
s QJ6 s & 187
4432 5332
7 HCP c QJ 4 HCP
v AKQS8
¢ QT9 | 4432

Week 5 Board 6

Bidding, opening lead & planning.

E S w N
P INT! P #3NT
P P P

Lead by W~ Sequence of 3+: JH

TT~ S:AKQJ H:AKQ D:- C:AK = 9.
Need no more. Can S make more?

XT~ D:T9 (D:QJ-D:AK)

SV
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Week 5 Board 6

Dir=E Vul=EW 3NT by S Play.
Wi JH 5H 2H QH

~~

1)

{
» AK96 {S)2 Qb KD 3D 8D {
v75 4432 (Wi 2D 6D AD 9D !
s J763 | 15HCP (E}4 3H KH 4H 7H (2
& AK3 {S}5 10D 4D 7D 2S (3)XT
{S}6 AH 9H 3C 4S (4)
4 53 N o T8742 {S}7 Q@S 3S 6S 7S (5)
v JT94 v 632 {S}8 JS 5SS 9S 8S (6)
¢ K542 W E| +A8 {S}9 2C 6C AC 7C (7)
» QJ6 & T87 {N}10 KC 8C 4C JC (8)
i S - {N}11 AS 10S 8H 5D (9)
bt s QJ 1 HOP {N}12 KS 6H 5C 10H (10)
v AKQ8 {N}43 JD 6H 9C QC (11)xT
¢ QT9 4432
#0542 12107 90 1 10 < 160

Game = 300 Total = 460
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Week 5 Board 6

# Dir Vul Source DIr = Dealer, Vul = Vulnerability.
6 E EW Deal

1 4 3NT=S 9 400 5 1

2 6 3NT=S 9 400 5 1

7 5 2H= S 8 110 0 6

8 3 2NT+1S 9 150 2 4

Ref 3NT+2S 11 460
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Week 5 Board 7

DIr=S Vul=All 2S by E Bidding, opening lead & planning.
S W N E
s T532 INT! P P 2S
v AJ97 | 4432 P P P
K4 8 HCP
¢ Lead by S~ Sequence: AC.
& 953
TT~S:-H:-D:AC:-=1. Need 7+
a4 N » KJ986 more.
v QT3 W el Y K864 XT~ QH (KH=AH); JD (QD—KD);
¢ QJ765 ¢ A8 1 x Length D; 10C (C:QJ-C:AK).
& JT87 * Q2
S c122 This is still 3 short.
g‘ﬁ’ép s AQ7 13 HCP {E} is in a pickle. It May have been
v 52 better to have not overcalled.
¢ TO32 | 4432
& AKB4 | 13 HCP




SV

U3A Intermediate Bridge 2017-18

Week 5 Board 7

DIr=S Vul=All

LY

v QT3

¢+ QJ765
» JT87

5431
6 HCP

2S by E
& T532
v AJ97 | 4432
o K4 8 HCP
& 953
N » KJ986
v K864
w E| +A8
& Q2
= 5422
& AQ7 13 HCP
v 52
¢ TO32 | 4432
& AK64 | 13 HCP

2S-1 by E

/G 3C

QD
2D
25
SH
QC
3H
85
6D
AS
JC
7H
9H

1*-100 = -100

KD
JD
6S 3D
10H !
KC i
AH 6H |
QS 4S
55 9S (4
7D 10S 4
9C 8H (5
KH 6C (6
JS 7S (7

Total =-100

) XT
) XT
) XT

SV
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Week 5 Board 7

DIr=S Vul=All alternative: 1INT by S Play.
~ 4th hi
Lead by {W}~ 4t highest 6D W1 6D 4D AD 2D !

{
TT~ AS AH
AC KC & T532 {E}2 QC AC 7C 3C (1)
XT~Finesse ¥ AJ97 | 4432 {S}3 2H 3H 9H KH !
QS + Ka 8 HCP (E}4 2C KC 8C 5C (2
Deep 9H  *953 {S}5 5H 10H JH 4H (3)
{NJ6 2S5 6S QS 4S (4)
&4 N & KJ986 {S}7 3D 7D KD 8D (5)
v QT3 v K864 (N}J8 AH 6H 4C QH (6)
+ QJ765 w E| +A8 {N}9 35S 85 AS 5D (7)
» JT87 & Q2 {S}]10 6C JC 9C 9S |
e S e (W}110C 58 JS 7S
5 HCP s AQ7 13 HOP (W2 Q@D 55 8H 9D |
v 52 {(W}13 JD 10S KS 10D ¢
¢ 1932 | 4432 INT=by S
13 HCP -
* AKB4 1*30 + 10 = 40

Bonus = 50 Total =90
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Dir

CcUown Ny H*
- NN

Ref a
Refb

Week 5 Board 7

Vul Source DIr = Dealer, Vul = Vulnerability.
All Deal

2NT-1S 7 100 4 2
INT-2S 5 200 0 6
INT-1S 6 100 4 2
INT-1S 6 - 100 4 2
25-1 E 7 100 - Not a good {EW} result
INT= S 7 90 - {EWY}'s best result

unless {NS} get it wrong,
when {EW} do well.
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Week 5 Board 8

DIr=W Vul=None 3NT by S

This board got a bit mixed up after playing for the
fourth time. It may not be 100% accurate.

7H?
6S? 4 J2
v KQ92 | 4432
0 T63 9 HCP
& KT92
& KT85 N 4 973
v JT5 v 7643
* KJ w E| 49754
» J875 = ® 63
4432 4432
9 HCP & AQ64 0 HCP
v A8
¢ AQ82 | 4432
& AQ4 | 22HCP

Bidding, opening lead & planning.

w N E S

P P P #2NT!
P 3NT P P

P

Lead by W~ 4t highest: 5S.

TT~ S:A H:AKQ D:A C:AKQ = 8.
Need 1+ more.

XT~ JS (QS~KS).
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Week 5 Board 8

SV

DIr=W Vul=None 3NT by S Play:
This board got a bit mixed up after playing for third
time. May not be 100% accurate. (Wt 65 JS 3S 4S5 (1) XT
s J2 {N)2 2H 6H AH 5H (2)
v KQ92 | 4432 {S}]3 8H 10H KH 3H (3)
+ T63 9 HCP N QH 7H 2D JH (4)
& KT92 IN}J5 9H 4H 6S 8S (5) XT
{NJ6 2C 6C AC 5C (6)
» KT85 N 4 973 {S}7  4C 7C KC 3C (7)
v JT5 v 7643 {N}8 9C 7S5 QC 8C (8)
* KJ W E| 49754 {S}9 AS 10S 2S5 9S (9)
& J875 * 63 {S}10 8D JD 3D 7D
S 1430 {(W}11 JC 10C 4D QS !
o » AQ64 Chep (W2 KS 6D 5D QD ¢
v A8 (W13 KD 10D 9D AD (10)
¢ AQ82 | 4432 NT+1
» AQ4 [22HCP 1% 50+ 10 - 130
Game = 300 Total = 430
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Week 5 Board 8

# Dir Vul Source DIr = Dealer, Vul = Vulnerability.
8 W None Deal

2 8 3NT+2N 11 460 3 3

3 7 3NT+3S 12 490 6 0

5 4 3NT+2S 11 460 - 3 3

6 1 3NT-1S 8 : 50 0 6

Ref 3NT+1S 10 430
How were the +2 or the +3 tricks made? My "Ref" is a poor score.
How did {2N} get to be declarer?
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Week 5 Board 9

DIr=N Vul=EW 3NT by E Bidding, opening lead & planning.
N E S W
» QT96 P 1C P 1H
v A8 4432 P #2NT P 3NT
o KJg5 | 11HCP P P P
* J65 Lead by S~ 4th highest to honour —
except it is 3 highest (low to
4 A73 N & K52 honour): 2C.
v J962 v KQ7
¢ ATS w E| +Q32 TT~ S:AK H:- D:A C:AK = 5. Need
» 974 S & AK83 4+ more.
433 4333 XT~ H:QJ (KH=AH) (2); Finesse
9 HCP « J84 17 HCP QD (0.5);
v T543
¢ 974 | 4333
& QT2 | 3HCP
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Week 5 Board 9

Dir=N Vul=EW 3NT by E Play:
{SH 2C 4C JC AC (1)
» QT96 (E}2 7H 3H JH AH !
v A8 4432 {N}]3 6C KC 10C 7C (2)
o KJg5 | 11HCP (E}4 KH 4H 2H 8H (3)
» J65 {E}5 QH 5H 6H 6S (4)
{E}6 3C QC 9C 5C !
o A73 N o K52 {S;7 9D 10D KD 2D
v J962 v KQ7 {N}8 10S 2S5 4S5 AS (9
s ATS w E| +Q30 {(W}9 8D 5D QD 7D (6)
» 974 » AK83 {E}10 3D 4D AD 6D (7)
S v {(W}11 3S 9S KS 8S (8)
o P « J84 17 HCP {EH2 8C JS 7S JD (9)
v T543 {E}13 5S 10H9H QS !
¢ 974 | 7338 3NT= by E
+Qr2 257 3*30 + 10 = 100
Game = 500 Total = 600
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Week 5 Board 9

# Dir Vul Source DIr = Dealer, Vul = Vulnerability.
9 N EW Deal

2 8 INT-2 N 5 100 4 2

3 7 2H= W 8 110 2 4

5 4 3NT= W 9 : 600 0 6

6 1 3NT-1W 8 100 - 6 0

Ref 3NT=E 9 : 600



"™ U3A Intermediate Bridge 2018-19

Week 5

HoVao

The end

>




